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1. Which one of the following is the 4. Suppose a bank gives an interest of
difference of the sum of cubes of first 10% per annum compounded annually
ten natural numbers and the sum of for a fixed deposit for a period of two
squares of first ten natural numbers? years. What should be the simple

intercst rate per annum if the maturity
{a) 2400 amount after two years is to remain
the same?
(b) 2640 ,
; (@) 10%
fc) 2880
(b 10-5%
(d) 2000
fe) 11%
2. A person buys an item from a shop for {d} 12%

which the shopkeeper offers a discount
of 10% on the marked price. The person
pays using an e-wallet which gives 10%
cash back. Which one of the following
is the value of cffective discount?

5. A runner’s average speed reduces by
25% every hour. If he runs 16 km in
the first hour and he runs for 3 hours,
then what is his overall average speed?

fﬂj’ 20%
h
) 18% () 12 km/hr
(] 19% fb) 12:33 km/hr
(d) 21% fe} 1033 km/hr
fd] 13 km/hr
3. A solid spherical ball made of iron is
melted and two new balls are made
whose diameters are in the ratio of 1: 2. 6. Trough and ridge are
The ratioc of the volume of the smaller
new ball to the original ball is {a) elongated area of low pressure and
of high pressure respectively
fa) 1:3
fb) elongated areas of low pressure
5 125
fc) elongated areas of high pressure
fc] 2:9
{d) elongated arca of high pressure and
d) 1:9 of low pressure respectively
JDFG-U-PFT/48A 3 [ BT
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7. The boundary layer of the forest at 10. Which one of the following protocols
which the energy exchange occurs is not an application layer of the
and some insolation is returned directly TCP/IP model?
to space is

faj FTP
fa) forest floor

(b) HTTP
fb) forest soil

fc] DNS
{c) forest canopy id) 1P

(dj forest litter

11. Which one of the following is a semi-
conductor device that is used to

. i e f the incomin
8. The organisms that prefer high salt incrbass fhe. pewer 0 5

concentration habitats refer to as mg_;n_als bjf pregerving:tae shape of the
original signal?

(a) alkaliphiles f) Resiater

(b) calcifuges {b) Transistor
(¢} halophiles fcj Flip-flop
fd} nitrophiles (d} Diode

12. Which of the following combinations
9. Which one of the following is neot an correcily  represents the  genetic

operating system? materials in prokarvotes and
' eukaryotes respectively?
fa) MS-Windows
{a) Nucleoid and Chromatin

LR {b) Chromatin and Nucleoid

fe) Ubuntu f¢) Nucleoid and Nucleolus

fd) MS-Excel fd) Nucleolus and Chromatin
JDFG-U-PFT/48A 5 [ P.T.O.
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13. Lysosomes are sacs of the cell filled 16. One way of incorporating desired

with digestive enzymes. These digestive
enzymes are synthesized by

(a) Golgi bodies
() smooth endoplasmic reticulum
() rough endoplasmic reticulum

fd) lysosome itself

14, Which of the following best represents
the cells of a meristem of plant?

(a) Dense cytoplasm, thin cell wall,
large nuclei and absence of
vacuoles

(b) Dense cytoplasm, thin cell wall,
large nuclei and large vacuoles

f¢) Dense cytoplasm, thin cell wall,
amall nuclei and absence of
vacuoles

fd) Dense cytoplasm, thick cell wall,
small nuclei and large vacuoles

characters into crop varieties is
hybridization. In this process, there is
crossing between genetically dissimilar
plants, Which one of the following
erossings will not refer to hybridization?
{a) Intervarictal

{b} Interspecific

{c) Intergenic

fd) Intragenic

17. Depending on the requirements,

plant nutrients are classified as
micronutrients and macronutrients.
Which one of the following is an
example of a macronutrient?

ey} Manganese

(b) Copper

fc] Magnesium

(d) Chlorine

18. Buds produced in the notches along the

15. Which one of the following animals has
a four-chambered heart?

fa) King cobra
{b) Turtle
fc)  Chameleon

{d) Crocodile

JDFG-U-PFT/4BA 7

leaf margin of Bryophyllum fall on soil
and develop into new plants. This is
an example of which one of the following
tvpes of reproduction?

fa) Vegetative propagation
{b) DBudding
fo)  Spore formation

fd) Regeneration

[ P.T.O.
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19. Phloem tissues are mostly responsible

for transport of
{a) water
(B) ﬂI}*IgE.'I‘I

fc) minerals

{d} food
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22. Which one of the following matenals

cannot be used to make a convex lens?
fa)
{b)
{c/ Sapphire

(d)

Aluminium

Glass

Water

23. The optical phenomenon responsible for

20. Two objects, x and y, have equal mass
and are moving with speeds u and 3u

respectively. Their kinetic
k, and k, are related as

@ ke=ky
(b) 2k, =k,
() 9ky=ky
(d) 3k =k,

cnergies

the blue colour of sky i=
(a)
(b)
(e} refraction

d)

dispersion

reflection

scattering

24. The electrical device used for converting

21. Which one of the following is not the

unit of pressure?
(a) pascal (Pa)
() Nfm?

fc) J/m?

(d) bar

JDFG-U-PFT/48A

25, The

mechanical energy into electrical energy
is called

fa} voltmeter
{bj ammeter
fc) motor

{d) generator

magnitude of focal length of
a concave lens is 2 m. What is the power
of the lens?

fa)
(b)
fc)  +2.0 dioptre

(d)

+ 0.5 dioptre

= 0:5 dioptre

-1-0 dioptre

[ P.T.0.
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26, At the time of short circuit, the current 29, Which of the following makes bread
in an electric circuit soft and spongy when baking soda is
added?

ja] becomes Zero .
fa} Seodium salt of acid

fb) remains same

(b) NaHCO,
fc) increases sharply fc) CO,
fel} decreases sharply fdj H,0

30. The average age of father and elder son
is 35 years, the average age of father
and younger son is 32 years and the
averape age of the two sons is 17 years.
What is the average age of the father

27. If the linear momentum of a moving
pbject changes by two times, then its
kinetic energy will change by a factor of

fa) 2 and his two sons?
(b} 4 : fa) 30 years
P fb) 27 years

fc} 28 years
(d} 8

fd) 29 years

28. Which one of the following oxides
reacts with both acid and base? 31. A number is 124 more than its one-third.
What is that number?

fa) Aluminium oxide

fa) 194

fb] Calcium oxide (b) 180

fc/ Sodium oxide fc) 189

{d] Potassium oxide fd} 186
JDFG-U-PFT/48A 11 [ B.T.O.
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32. A car travels 2th of the distance at 35. Borax is prepared from

a speed of 60 km/hr and the remaining

l 1l
sth of the distance at a speed of {a) calcium carbonate

v km/hr. If the average speed for the
full journey is 50 km/hr, then the value

of v is (b} magnesium carbonatc
40

e fej potassium carbonate

{b) 30

fe) 100/3 {d}] sodium ecarbonate

(d) 35

36. Cinnabar is an ore of
33. Suppose A and B can completc a work

together in 10 days. If B alone can

complete the work in 15 days, then fa) mercury
in how many days can A alone finish
the work?

B zinc
fa) 20 days
(b} 24 days fe) copper
fc 25 days

{d} lead
{d) 30 days

34. If the average of the first four of five
numbers in decreasing order is 25 and
the average of the last four numbers
is 20, then what is the difference
between the first and the last number?

37. White gold is an alloy of
{a) gold, nickel and palladium

(@} S5 ld, eobalt and palladinm
) go p

(b} 10
{e]  gold, titanium and platinum
fcf 15

fedj 20 fd} gold, magnesium and palladium

JDFG-U=-FPFT f48A 13 [ P.T.O.
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o Hehl B7 SR #4910 km/hr @ 14 km/hr
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38. Hydrogenation of alkenes can be carried 42, Two friends 10 km apart start running
out in the presence of towards each other at speeds of
10 km/hr and 14 km/hr respectively.
fa) copper After how much time will they meet
cach other?
fb) =zinc
ik fa) 20 minutes
fc) aluminium
inut
(d nickel fb} 25 minutes

fc) 28 minutes

39, Calcium oxide reacts with water to

(d} 3D minutes
produce slaked lime, It is an example of

(a) combination reaction 43. A coin is tossed 3 times. The probability

(b) decomposition reaction of getting exactly 2 heads is
) oxidation reaction fa) %
(e} addition reaction
6]
(b) 3
40. The atomic radius of hydrogen atom is
fa) 37 nanometer (c) %
{b} 37 picometer
{c} 17 picometer . (d) %
(d} 57 picometer
41. There is a group of 5 people among which 44. Atest cuns.ists of 25 MCQs. Eﬂﬂh correct
there is one couple. In how many ways AISWRT S +4 marks and mW_l'TﬁCt
can these 5 people be seated in a row answer gives —1 mark. If a candidate
having 5 chairs if the couple is to be scores 74 marks, then how many
seated next to each other? questions were left unattempted?
fa) 24 (a) 4
(b) 48 (b} 3
fc} 60 fc) 5
(d 120 d) o
JDFG-U-PFT/48A 15 [PTa |
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47, Trefafan F9i w fem $ifio fa) 1302
1, e 3991 % o 2 S99 ¥ w9 § (b) ¥ 2
Tgffm 3o 1 39g fEm s # o
2. 5 do Ak e S 6 g &, B o
T AR T A B S9A ¥ Wi W (d Fa9 3
=E B I WiE 3T e R
Fer T PR - 27 50. & € ¥, win 3 Prefafae § 4 fa dwow
e I e GrivRe s uiciki
(a) w1 T
(h) e 2 ) .F
fe) 1 ¥R 2 =M ()
(d Adr1amade (d) HIT @ FHAE
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45. A person has a total of 100 coins 48. Consider the following missiles :
consisting of ¥2 and ¥5 coins. If the 1, Aphil
total value of the coins is ¥320, then
the number of ¥2 coins is 2. BrahMos
(b} 50 Which of the abowve is/are cruise
missile /missilcs?
fe) 60
(b} 2 only
46. The technology known as ‘Electro- fe) 1 and 3
magnetic Air Lift System’ is sometimes
talked about in reference to (d) 3 only
chin i issil fro
" :;:: Sl i o 49, With reference to India’s defence,
consider the following helicopters :
{b) launching aircraft from warships 1. Ol
fe} navigation of nuclear-powered 2 Chetak
submarines
3. Rudra

(d) development of reusable rockets
Which of the above has/have turret

) gun, rocket system and air-to-air
47. Consider the following statements :

missile?
1. Aluminium powder iz used as
a solid fuel for rocket engines. fa} 1 and 2
3, Compared to liquid fuel propelled fb) 2 only
rocket engines, the thrust per
amount of fuel burned is higher e}~ 1 mhe 3
in solid fuel propelled rocket fd) 3 only
cngines.
Which of the statements given above 50. Recently, India gave a coastal radar
is/are correct? system to which one of the following
countries?
fa) 1 only (o) Bangladesh
fb) 2 only (b} Maldives
{c) Both 1 and 2 fe} Sri Lanka
{d} Neither 1 nor 2 (e} United Arab Emirates
JDFG-U-PFT/48A 7 [ P.T.Q.
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51. fee Fafem 3 Frafafen § & frg sl 6

TEE R e i 9l WEE w0 % w9 H
7

(a) FEAIEAE SR Fa SRaATT
b) T 39 T Fa srfr sk g

(¢} ¥FETg PR Fa w0 § I= dr
(dien 57 HRE 57 o)

(d) e di| Fid gdt

52, 4% Tm ‘i Twen’ v iR FEifEe

Teran T ?

(o) AT SR
{b) TR deR
je} v A
(d) T8 T

53, 9 FoA0 % Hay H, Feffag 4 @

-1 FUF HeEl T 27

(a) =A% A faEm wHEEn T Ry
4% foma e, or-gw ol (e
T3E) F gAR AR s 6w
T o 2

(b) wigdfva sFenfa el s woom &
et wfafem % ogew, o6 & fGm
et 1 wgErE st Ry wm )

(c) Taim &= fowm FriFEn =1 W 99 O
I SEEad] § wgH w9 W e
FET B

(d) SHE A F fau fEm iy
HEEd & Fwig et w e
o S e+ fo 28 e ww
=1 et B

JDFG-U-PFT/48A

GCet Printed Study Notes for UPSC Exam -

18

https://iasexanportal .com not es

54. fFefafas § 4 F9-1 597 96 79 &7

(a) @i S TG TR A wed
U wEy B

(b) qE1 avfan &3 wEEn s gew
o= #FrFEa 1970 % 3o § wEv R
|

() CHEa aHm fHEm wEwn’ #
TAHE F % "R wyl anfio fsem
qrer’ 2001 8 WEH 6 TS o)

(d) ‘@ sl 1w w-iem g T
pleiE=Rizudea vk ]

55, Tedl-wE g w g e AW & s

e 27

(@) T F1 I%
(b) EFE g
(c) THIE 1 I=

(d) T TR

56. JIENHEF § @3 F e 51 fafafes

3 o Tl & Foran w27
(a) wTER

(b) TRE

(c) e

(d) T~ SHE
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51. Which one of the following artworks 54. Which one of the following statements
is not corrcct?

was hailed by Sister Nivedita as the
first masterpiece of Indian art’?

(@) Bharatmata by Abanindranath
Tagore

(b} Arjuna and Subhadra by Raja Ravi
Varma

f¢) Sita in Captivity in Lanka by
Abanindranath Tagore

fd) Safi by Nandalal Bose

52. ‘Operation Sankalp’ was initiated and
implemented by the

fa) Indian Air Force

fb) Indian Army

fe} Indian Nawvy

(d) Ministry of Home Affairs

53. Which one of the following statements is
not true with regard to tribal welfare?

faj The Comprehensive Tribal
Development Programme aims
at land development activities,
improvement of roof houses,
infrastructure development and
80 On.

{h) As per the Scheduled Tribes and
Other Traditional Forest Dwellers
Act, villages in forests are provided
with community rights.

fe] The Special Area Development
Programme aims at distribution of
forest area produces to the tribals
equitably.

{d) The Special Central Assistance to
Tribal Subplan provides dairy cows
to tribal groups living below the
poverty line.

JDFG-U-PFT/48A 19

(a)

(b)

ic)

(d}

55. The

The ‘“Swarna Jayanti Shahari
Rozgar Yojana' is an urban
self-employment programme.

Drought-Prone Area Programme
and Desert Development
Programme were launched in
1970s.

The ‘Sampoorna Grameen Rozgar
Yojana' was launched  after
restructuring the ‘TIntegrated Rural
Development Programme' in 2001,

The S[Swarna Jayant  Gram

Swarozgar Yojana' is a rural self-
employment programme.

Battle of Rakshasi-Tangadi is

popularly known as the

(a)
(b)
fc}
(d)

Battle of Talikota
Battle of Khanwa
Battle of Panipat

Battle of Dharmat

56. Ashokan inscriptions in Afghanistan are

written in which one of the following
scripts?

(a)
(b)
fc)
(d)

Brahmi
Sharada
Kharoshthi

Greek-Aramaic

[ P.T.O.
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57. WA I9UEEN # §9-99 200 ¥ 300 fEA F 59. Wi % fan &= ) when & fou uwa w@w

A el Y FEl & A § fafefa § a B FiaTht s i Fghn o= 6 ofi?
1791 FeF wE A 27
(@) REaw (@) 3 w8 fE W il i
fromft sfve Ry dmmensil A yem (b) 1966
aal ) 1965
(b) FN 4 9L Hew § e e X A9 F s e
e [ CRUSE R N g o
fc) WaeETedl A =i, o, @R (=) sin
9N % T el R 60. Ffafaa § & #a-m1 ad T 27
(@) ¥ R w afem d, s (@) TF T, T TErETE 4T g
egl i wedi o aln w28 mvE A ]
e &1 (b) T cEwiewm aw  (few), =
TR 4r 2
58. 1 A G-I F Wy giRw B sk () wHTER BRI, ¥a FEmTE u i
wat & F/ fen
. T T ™l () Fferwifa aw, S meEmia e
HEf-1 et 61. wWfEl & ant § fffas 3§ 4 $9-2 a9
(7t = @ Am)  (snyf ) W 47
A, TTEdt 1. 3= 1. 8 wEfEm, S &s @ g R =
B. wfenh 3. i ﬁg-ﬁ*‘ﬁwm'ﬁm%
G e Al 2. ERE = I i G )
D. wwefy 4, W % Torm fomn @rman 24
2 3. WA UF WE W g wE W on ¥
forw =l wefifa +#F = v=a 8
fa) A B C D
i eldie ey = T M g2 | wim w wE I g
e T R T
5 > 4 3 (a) FFa 2 3w 3
b & B Oyeb (b) FF@ 1 #N 3
e - G
fc) FE@ 1 3w 2
) & B © D
I adme S (d 1,23m3
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57. Which one of the following statements 59. When was the Kothari Commission
about coins struck during 200 BCE to appointed by the Government of India
300 CE in the Indian subcontinent is to look into the education sector of
not corrcct? India?
ja) The  Indo-Greeks  introduced (a) 1967
bilingual and biscript legends on (b) 1966
their coins,
fe) 1965

{b) The Kushanas minted large
quantities of gold coins as well as
copper coins of low denomination.

(@ 1964

60. Which one of the following is not

fc) The Satavahanas issued coins of R

silver, copper, lead and potin.
{a) The Gulf Stream is a warm ocean

fel) Absence of Negama coins suggests current.

the declining power and authority s
of merchant guilds. (b} ‘The North Atlantic Drift is a warm
ocean current.

8. Match List-I with List-Il and select the e} “The: Cabrador Calnerit 46 A cold
correct answer using the code given ocean current.
below the Lists : fd) The California Current is a warm
List-IT ocean current.
List-{ t-
(Vedic name {Modern noame) _
of river) 61. Which of the following statements about
t?
A. Drishadvati 1. Chenah S e
AL 1. Maps that maintain the true
e e B ChEcHrs shapes of areas are known as
C. Vitasta 3. Ravi SO DS,
D. Purushni 4. Jhelum - 2, Maps are used to show spatial
Cod relationships.
e
3. Maps cannot show route from one
(@ A E C D place to another,
? A : ? Select the correct answer using the
(b) A B C D code given below.
2 1 ] 3
fa) 2 and 3 only
5 D
« 2 lf 4 2 b} 1 and 3 only
(@ A B c D fe} 1 and 2 only
3 < 1 2 fdj 1, 2 and 3
JDFG-U-FPFT[48A 21 [ P.T.O.
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62. ‘T3 T (2 wha) ¥ A & P § 2

FH-H1 ®YT HEl AW BT

() TAF g 9, vt i g awhi #
=tz &)

(b) WEIE g3 Iu, Ts i aify ¥

(c) =08 9, ¥-98 W ISHYM] % @ <Haw
ImEn-ar == g w8

(d) 975 99 9% 9T I9 8, W 91 Fuifm
figefl 3 mem § usst % = s i
o = w21

63. WA =R-E (AE dwW ') F gl 1,

Treferfiaa # & #F-a1 w7 4 37

fa) AR 4f AW W I=EW g § AW
S TeH & WY-"1Y v B

(b) TR g q@ W e B 2 oA
AR 954 F WY-61Y ged B

fc) HNHR E9TE 9 & Wy-my @ oE
T |

(d) AEE A w@EA % WH-He TEe d99d)
® IR R WA & B @ 81

64. frafifigs # & #9-1, @ =6 we

-4 87

fa) R
(b) el
fc) =t

(d) HEH
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65 I=09 =Eed™ #H Fo dHo amEr "W

fFEr T % et ween, T=ew
Teferfiaa wiiwd & & fored wefim 27

(@) FEAEE F g SEntE w5
(b) Torel gEEt i FEw w=m
fc) &A1 MG AT

fcd) Teremrri < wfterfem) o ww = gt
AL

66. ‘AT w2 F) WG o R am @ s

S S 7
) i Ff
(b) A it
fc) e st
(c) Tt (el wif

67. ‘Te-a sfem whm fefefan 4 @ g @

Gefera 7
(a) m#mmmm

(b) W & % gan, Frfmm W FEw
AT T TFARR FAEEH T2

(c) wlitenadl, sggfem wife s syl
ST wgEEl % dN Soedier @

=gl &

(d) 18-50 @8 % ¥y & % «m F fag
= e
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62. Which one of the following statements 65. The landmark case of D. C. Wadhwa vs.
about ‘great circle' is not correct? State of Bihar in the Supreme Court is
related to which one of the Dllowing

(a) Every great circle divides the Earth powers of the Governor?

into equal halves,

(b) Every great circle is a fa) To repromulgate ordinances
circumference of the Earth,

fb) To appoint a Chief Minister
{c) Great circles mark the longest

travel routes between locations on (c)

To grant pardon, etc.
the Earth’s surface.

(d) Great circle is the largest circle fd) To revise the emoluments and
that can be drawn around the allowances of the MLAs
Earth through two particular
points.

66. ‘Operation Flood'is also popularly known

63. Which one of the following statements s
is correct with reference to normal :
lapse Tate? (a) the Green Revolution
{a) Temperature is highest at ground {b) the White Revolution
level and decreases with increasing
altitude. {e) the Blue Revelution
(h) Temperaturc is lowest at ground ; -
level and increases with increasing (d) the Yellow Revolution

altitude.

[c) Temperature remains stable with

: ; : 67. The 'Stand-Up India Scheme’ is related
increasing altitude.

to which one of the following issues?
fd) Temperature first increases with
increasing altitude and gradually (e} Social security during old age
starts decreasing.
fb) Providing technical knowhow to
young, educated or skilled workers

64. Which one of the following is a tributary from rural areas

of the Brahmaputra River?

{a) Ghaggar fe} Promoting entrepreneurship
: amongst women, SC and ST
{b) Mahi communities
fe) Eosi
{d) Insurance cover to people in the
{d] Manas age group of 18-50 years
JDFG-U-PFT/48A 23 [B.T.O.
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68, Fr=faftaa 8 @ wm-d wiodle goar € fasea 70. 'qﬁmﬁm’ﬁm%aﬁﬁﬁnﬁf@a
&l &7 A E -1 AR T R

1. et O = 2014 0 oft

2. TEE g U I F w we 2
Rt Tt % A9 R ¥ et
d-ate i s @ W B TR

(@) —TETEE, ARV @R wwn F fAfe e
=i w1 Fdea (i) =awd ¥

(b) W9 WER ¥R 7w % fom e F g et
% da fafifEe fn o 2
4 T T gz 1 W w s
() AEwm § @9 v vsal 6 whet 9 S
fafafée farm mrm 21 fa) .
: (b] FEe 2
(d) A TR Tieat & guew % fagm
W aiE B fe) 1 ¥ 2<M
(d) I 13Rad2

69. Frafafas Tut w fam fifsw .

1, wifirE weEn Fawen-feht, fnsh deh 71. Frferfan +uEl w far $ifa .
¥ wafEE off, Fafs wfe ge e

3 a7 & fwse diefi 1 v ) 1. e 2000, w6 -5 e e B
2. WA # Ree ¥ % vm e 2. g;?‘“{a”m:@ﬁ~ﬁw
o el 3in w=m o 9
3. THH, T St (eRwEite) Tes
I FA! F § FA-w/A-F w2/ AR
T Fort & F B/ T A
(o) FFE 1
@ 132
(b) A 2 _
(b) =ad 2
e fc) 14#m3
(d F@1dad2 @ a3
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68. Which one of the following is not 70. Which of the following statements
a feature of Indian federalism? about ‘Ek Bharat Shreshtha Bharat’
programme is/are correct?
far Cours B miterpret the 1. [t was announced in the year 2014.
Conetitution and powers of

different levels of the Government. 2. Its aim is to create an environment

which promotes learning between

(b Sources of revenue for the the States by sharing best practices
Union Government and the Statle and experiences.

Governments are specified.
Select the correct answer using the

fe) Powers of the Union and the States code given below.
are specified in the Constitution.

(d) Indian federalism is based on the f@) 1 only

principle of Separation of Powers. (b) 2 only

fe) Both 1 and 2

69. Consider the following statements : () Teither 1 nor 3

1. The early Malwa school of paintings
wae influenced by Shirazi school
while the early Mughal paintings 71. Consider the following statements :
initi d Bi hool.
initially followed Bihzad schoo. 1, Mimage 2006 s 'a T i

9. The major exponents of Bihzad fighter jet.
school in India were Sayyid Ali and 9

HAL Tejas is a delta-winged
Abdus Samad.

fighter jet.

3. Rafale is a hypersonic fighter jet.
Which of the statements given above

isfare correct? ; :
Which of the statements given above

is/are correct?

fa) 1 only
fa 1 and 2
)k S (b) 2 only
() Both 1 and 2 o L E
fd) Neither 1 nor 2 (d} 3 only
JDFG-U-PFT/48A 25 [ P.T.Q.
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72. Frefara # & fre wide 59+ 3 @ 76. et # ¥ Fr-w, e § @@ g

THe ‘weda 9' i sAfipsfenn (fesms) afi ekt sl aw 27
i et

{a) ﬂzﬂﬁﬁﬂ' fal ﬁﬂﬁi‘%gﬁmaﬁ
fb) =g (b) Em g wE

r“ﬂ-‘,J mtﬂﬁ_—[ fi"} mm

d) wEX '

fd) FHIE) FEIfeTen BT toieqz Uagm

73. AEEE awaE afaafE fie,
‘Kh-47M2 fem’, FrafoReas & & fem 3w 77. T TR ¥ AR A Frefafe wwd § @

1 #7 Fa-m /A wh b
fa) = 1. 3 sene 76 % ad on hed w9
b) W™ % W § wevq aiftrfSe W 4
) ¥ 2. vEwR U F ouEen wew a9
Hiffa =1 TaT)
d) T The Yo
e fan T 2 W = e g
74, Wi TR, e gE 9w weEn § i W
w44 aod F vl F fear W 2, e
w2 ot o 37 (b) FEE 2
(Bl SO fe) 13 23
(b) Tfee=m @R
L [d) Fda13maHo
(d) =ATHE A\
78. dlcwifaan % & 4, Fefufiss = 4 @
75. T A #, frefaa & frw 3 ¥ @ e FH-T T i 27
1 ‘= i arfEd :
Y, ' FR 9 e (a) T AR UE TEE R
(@) T {b) Te Teeh B <heli waEh fodt F o=
() T i
fc) Bl ki fc) T TTH W 1 UF 3 4
fd) FIF 3 sfE _ fd) =& i grr =i et
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72. Which onc of the following aerospace 76. Which one of the following is the oldest
companies designed and manufactured Central Paramilitary Ferce in India?
Falcon D', a reusable rocket?

fa) The Central Reserve Police Force
faj Blue Origin

fb) The Border Security Force

{b) Boeing
{c) Lockheed Martin fe)] The Assam Rifles
(d} SpaceX (d) The Commando Battalion for

Resolute Action

73. ‘The Kh-47M2 Kinzhal, a nuclear-

capable hypersonic missile, belongs to 77. Which of the following statements about
which one of the following countrics? ‘4gency Houses’ is/are correct?

fa] China 1. They were important commercial
bl F formations in the late eighteenth
fi  tetce and nineteenth century India.

= Raesn 2. The operation of managing agencies
(d) USA remained confined to Calcutta.

Select the correct answer using the

74. Mariupol city, frequently mentioned in code given below.

news in the context of Russia-Ukraine
conflict, is situated on the coast of

fa) Aral Sea fa) 1 only

(b) Baltic Sea fb) 2 only

(c) Caspian Sea (¢/ Both 1 and 2
fd] Seca of Azov {cd) Neither 1 nor 2

75. Recently, with which onc of the
following countries did India sign the
‘Comprehensive Economic Partnership

78. Which one of the following statcments
about Tolkappiyam is not correct?

Agreement’ ? fa) It is a treatise on grammar,

(a) Egypt (b) 1t was composed between first to

{b) lsrael fourth century CE.

(c) Suﬁt_h Africa fc) It was part of the Sangam corpus.

fd) United Arab Emirates (d) It was composed by Panini.
JDFG-U-PFT/48A 27 [ P.T.O.
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79.%ﬁ'ﬁnﬁ’%aﬁﬁ,ﬁmﬁ1ﬁaﬁmﬁrﬁ 83. udw =i Tafefes 8§ 4 frg e = B
| ®H-91 ge1 A 27 Ay fiam (e dediz ) w5 27
(a) Tofem wam 3 oo 6 off B =m0 wmE

d o wikmm § e 89 % fm o g
A A T F o e § (b) 13 weEd
(b) ¥E E = e § wifte B oW oW ) 99+
@R W w1 Fefa, oo 6
e W e, afew S0 ue F wee (d) 2wl
SIS T 1
(c) oH YEel AEUERE F WHF J = a4y 84. TR A TN We F Fefdfen d @ few tw w
w4 %1 Fiofg fera o1 | R w2
(d) FEAYER T Hed: SHHT-EUE F qew
H A 1 mifie gan) ol
fb) YA
Sn.w%ﬁﬁﬁﬁ—mmwm () Y
PR (d) TEn
(b) FrErEdt
) TEe 85. Frfafd # & #9-n, =l (z99) 3 w=n =
(d) emEe Ner g
| (a) aEeh TEIfeEt
81. 2 fi wis =/’ farme i &7 ) i st qefel
fa) el TEE § fafd
(b) T = FfTIHE % '
PR e ) Sh

(d) =l F FE T2
86. Fefofas & 4 fem usg § s0% @ afts a3

sz.TnmﬁHﬁmﬁﬂﬁﬂaﬁQMWﬁﬁﬁ A TN F 3 i 27
?
fa)

fa) TEUE b

) TrEs i

c) TR fe) Ttem

(d) “Ales (d) Tsm
JDFG-U-FFT/48A 28
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749 Which one of the [ollowing statements 83. The World Wetland Day is celebrated on
about Princely States' in India is not which one of the following dates every
correct? year?
fa) The British Government declared {a) 10th June

that States were free to join
gither India or Pakistan or remain fb) 13th February
independent. :

fe) 9th March
fb} The decision to join either India

or Pakistan or remain independent {d] 2nd February
was left not to the people of
Princely States but to the Princely

Rulers. 84. Ganga water is being shared at Farakka
with which one of the following
f¢/ The Ruler of Travancore first Sotmibens
decided to remain independent,
(d) The State of Travancore finally fa) Nepal
joined India through a plebiscite. (b) Bhutan
80. Which one of the following books was (c/ Bangladesh
authored by Harshavardhana? id) Mystimar

(z) Harshacharita

& Rodmmin 85. Which one of the following is a part of

fc) Ratnavali Deccan Plateau?
(d) Gilagovinda (@) Aravalli Hills
81. The King of Dance’ is a description of (b} Karbi Anglong Hills
fa) Trimurti at Elephanta Caves fcj Shivalik Hills
{b) Kalivamardan of Krishna {d} Vindhyan Hills
(¢ Bodhisattva Maitreya at Gandhara
(d) Bronze Nataraja of the Cholas 86. In which one of the following States,
more than 50% area is under Jhum
82. Anasagar Lake is located in which one cultivation?
f the following States?
of the following G Mesipur
{a) Gujarat
b} A
(b) Uttarakhand (B Amein
fc) Rajaaﬂmn fe) Sikkim
(d) Kamnataka d] Mizoram
JDFG-U-PFT/48A 29 | P.T.O.
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87. Fefefaa & & frm wu vsdm A1 geg wm
Tl (Rt @7

@) GE
(b} wERE
fc) WEEM
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87. ‘Dhivehi’ is a principal language of which 90. Which of the following statements about

one of the following Union Territories?
{a) Puducherry

fb) Ladakh

fe)  Lakshadweep

d) Jammu and Kashmir

88, Which of the following is/are source/

sources of Law in India?
1. Constitution of India
Statutes

2
3. Customary Law
4

the Committee on Public Undertakings
isf/are correct?

1. Therc arc more members from the
Rajya Sabha than the Lok Sabha
in the Committee,

2. The Chairperson of the Committee
is appointed by the Speaker of
the Lok Sabha.

Select the correct amswer using the
code given below,

c La

ase Law wTCEs
Sclect the correct answer using the
code given below. {b) 2 only

(@ 1 only

fb} 1, 2 and 4 only
fcg 2 and 3 only
fdp 1,2, 3 and 4

89. Which among the following is/are the

function/functions of the Cabinet

Secretariat?

1. To ensure interministerial coordi-
nation

2. Management of major crisis
gituations in the country

Select the correct answer using the
code given below.

(a) 1 only

{b) 2 only

fe} Both 1 and 2
fel] Neither 1 nor 2

JDFG-U-PFT/48A
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fe) Both 1 and 2

{d) Neither 1 nmor 2

91, Which one of the following statements

is not correct?

fa) A censure motion can be moved
against a single Minister of the
Council of Ministers.

{b) A motion of no-confidence cannot
be moved against the Prime
Minister alonc.

fc/ A censure motion cannot be
moved against the entire Council
of Ministers.

(d] A censure motion can be moved
against a group of Ministers.

[P.T.O.
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(d) HIF TE W APEE § AEE
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92, Which one of the following is not 95. Consider the following statements with

83. Nowadays,

a thrust area of the ‘Atal Mission
for Rejuvenation and Urban Trans-
formation [AMRUT)' ?

{a] Water supply

(b} Storm water drainage to reduce
flooding

() Motorized wurban transport and
capacity building

(d} Green spaces and park

nonfungible tokens' are
talked about in the context of

fa) digital assets on a blockchain

(b) operations of ‘banking correspon-
dents’ in rural areas

fc) multifactor authentication security
requirement in banking trans-
actions

{d) transactions through ‘small finance
banks'

94, The term ‘Sagiltarius A*’, sometimes

mentioned in news, refers to

fa) a supermassive black hole in our
Milky Way Galaxy

{b) two giant black holes spiralling
around each other several light-
years away from the Earth

fc/) a Supermova cxplosion seen in
real time for the first time ever
by scientists

{d) a hupe asteroid that passed by very
close to the Earth

JDFG-U-PFT/48A
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96. The

reference to the latest guidelines issued

by the Indian Computer Emergency

Response Team (CERT-In) :

1. Data centres and service providera
shall compulsorily report cyber
security breaches within 24 hours.

2. Virtual Private Network providers
shall retain user data for at least
five years and share records with
authorities when required.

Which of the statements given above
isfare correct?

(a) 1 only

fb) 2 only

fey Both 1 and 2
(d) MWeither 1 nor 2

principle of ‘common but
differentiated responsibilities and
respective capabilities’, often talked
about in media, refers to
fa) WHO’s COVID-19
Vaccination Drive

(b contributions to the International
Monetary Fund

fe) reduction of
emissions

{d) contributions to the United Nations
Peacekeeping Operations

Global

greenhouse gas

97. With reference to Indian economy, the

term ‘bad bank’, frequently mentioned
in news, refers to

{a) an asset reconstruction company
(b) an asset management company -

fc}] a bank with huge mnonperforming
assets’

fd) & bank that has become insolvent

[ P.T.O.
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Q8. Which one of the following was not
a feature of the art of painting in India
in the 19th century?

fa} Art was being produced for the
open market,

(b} The artist (Shilpi) became distinet
from the artisan (Karigar).

fc) The technique of oil painting was
developed.

fd) The distinction between elite and
popular art widened.

99. As part of the Look/Act East Policy,
which one of the following capitals of
North-East Indian States is proposed
to be connected with Bangladesh via
rail route?

(a) Agartala
fi) Kohima
fe}  Imphal

fd) Itanagar
100. Which one of the following is correct

in respect of the appointment of
District Judges?

fa} They are appointed by the
Chiel Justice of the concerned
High Court.

(b) They are appointed by the

President of India on the advice of
the Chief Justice of the concerned
High Court.

{c) They are appointed by the Governor
in consultation with the High Court
of the concerned State.

fd] They are appointed by the Supreme
Court on the advice of the
concerned High Court.

JDFG-U-FFT/48A

101. Consider the following historical events
in India carefully :

1. The Indian press failed to protest
apainst the Vernacular Press Act
of 1878.

2, ‘The Vernacular Press Act of 1878
was introduced by Viceroy Lytton
against the counsel of his own Law
Member.

Which of the above isfare correct?
{a) 1 only

(b} 2 only

fe) Both 1 and 2

{d) Neither 1 nor 2

102, Which of the following pairs of years and
historical events is correctly matched?

fa) 1878 : Second Anglo-Afghan War
(b) 1885 : Ilbert Bill Controversy

fcg 1785 : Fox's India Bill

fdj 1898 : Lord Curzon becomes

the Viceroy

103. Which of the following sets of Indian
States are landlocked and do not hawve
an international boundary?

faj Andhra Pradesh, Chhattisgarh,
Haryana, Jharkhand and Madhya
Pradesh

(b} Chhattisgarh, Harvana, Jharkhand,
Madhya Pradesh and Telangana

fc) Chhattisgarh, Haryana, Himachal
Pradesh, Madhya Pradesh and
Telangana

{d) Andhra Pradesh, Chhattisgarh,
Haryana, Himachal Pradesh and
Madhyva Pradesh

| PT.O.
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104. Arrange the following passes from West 106. Match List-T with List-Il and select the
to East direction : correct answer using the code given

below the Lists :
1. Bara Lacha La

st Lizt-T List-11
4= RIP LK (Type of plain) (Charcieteristic
3. Jelep La feature)
4. Bomdi La A, Bhabar 1. Marsh
: B. Bhangar 2. Bilt
Select the correct answer using the
code given below. C. Khadar 3. Gravels
D. Delta 4. Kankar
fal 1-2-3—4
B 1-3-2-4 Code
2-3-4-1
ke fa) A B C D
(d) 2-4-3-1 ' R e R
(oI 0 A T
105. Which of the following statements is/are AV A il
correct?

o} ARNERE oD
1. The jet streams are high altitude 1 4 o)
easterly winds.

2. El Nifio 15 a warm ocean current. (d) A B

Al
wg

3. El Nifio appears along the Peru
coast.

107. A non-banking financial company
Select the correct answer using the code cannot

given below.

fa} give loans
fa} 1 only

b} 2 and 3 only

(b} make investments
fc) borrow from bank

fe] 1 and 3 only :
fd) seek demand deposits from public

fdl 1,2 and 3 and cannot issue cheques

JOFG-U-PFT/48A 37 i sl 18 2
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(b) T Tt
fc) Yt wka
fd] L IEE
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(d) T e L Igm- s =

111, TseidE 26 2020-21 6 JEell fowwl #H
e Fle fle # 23-0 wiwm Ft Fh =i gwh
fourdl @ 7.5 wfewm 6 = gl Pl
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(Fepafl) e et wagn e

fa) U-3TET (919)
fb) V-#TER ()
() K-2FR (%)
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108. The Swaran Singh Committee 112. Based on the scoring on SDG
recommended the insertion of which (Sustainable Development Goals) India
one of the following provisions into Index, the NITI Aayog has classified
the Constitution of India? various States into certain categories.

i followi i ot :
fa) Doctrine of Pleasure Which one of the following is not one

of the categories?
fb] Fundamental Duties

fc) Nomination of  Anglo-Indian fa) Aspirants
Members to the Lok Sabha
Perfi
(d) Impeachment of the President of (b) Performers
India

{c) Fast runners

109. T.hc proceeds from disinvestment are il Aetiever
included as

fa) non-tax revenue

(b} Tevenue receipts 113. Who among the following is credited with
fc) capital receipts the introduction and popularization of

Dhrupad form of music?
fdl tax revenuc

{a) Raja Man Singh Tomar of Gwalior
110. GST is afan

(a) destination-based consumption tax (b} Tansen

b igin-based production tax
(b} origin-based production () Naik Gopal
(e} destination-based sales tax on

transaction fd) Shaikh Bahauddin of Barnawa

(d} origin-based tax on sales

transaction
114. Who among the following is the author
111. In the first quarter of fiscal year of the famous partition narrative,
2020-21, GDFP contracted by 239 The Other Side of Silence ?
percent and in the second quarter,
by 7-5 percent. The Economic Survey, (@) Amrita Pritam
2020-21 preferred to call it a recovery in
fu) U-shape (B) Urvashi Butalia
(b} V-shape
(e} Saadat Hasan Manto
fe) K-gshape
{d] W-shape fd) Manju Kapur
JDFG-U-PFT/48A 39 [B.T.O.
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115, 7% & o iee g@oh (o) = & 1 % 118, |H-1 F1 g-11 F wo gafem sy o

Iyt Freafefan T wead wed § @ e e % Y e T = oW W oAl I
Hewe wH # T g ;
e gef-1 11
(b) TR (&rfra =mTew) (gearea)
(e) Taaiq A. #fEE 1. #&e™
@ v B. Hle g THe 2, fm
c. %o 7o 3. fims
116. fiae wwdg SUET @1 Y9 T e TRl D. i s
™7
2
(a) 1871
i SRR . Sl O Bl ¢
(b} 1872 A g s
(c) 1881 o ks e L
(d) 1861 &9 305 g

117. WA § HgE o1 a9 1 FefafEs s w

fermm <fifn
1. ¥RaH 4 93 ¥R 25 TR T 9§ (d) g E ? 4D‘
2. W, 9 wiEse @ Semrt dew f
TEEE e F AR =2 9@ mihE
zl
3. wiftm Ten wE @ woedt ¥ 119, RN SER R g EE Al e s
it F w1 212 e mive 2 a1 wiv wE a2
fa) 1,233 oy
(b) Faw 3
(c) ¥aw 13w 2 fc) e guR fE
(d) e 2 3R 3 (d) =EF
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115. Which one of the following ecities on 118. Mateh List-I with List-1l and select the
the banks of Ganges declined in correct answer using the code given
importance when the railway link to below the Lists :

Bombay started operating?
_ List-I List=II
{al Benaras {Regional block) (Headgquarters)
fb) Kanpur A. ASEAN 1. Brussels
(c/] Mirzapur B. CIS 2. Vienna
(d) Patna C. EU 3. Minsk
D. OPEC 4. Jakarta

116. When was the first All India Census
attempted?
fal 1871 Code :

(b) 1872

(o) 1881 g} - & B BTAD

@ 1861 PR ol
fb) A B C D

117. Consider the following statements about + 1 3 2

the seaports in India . ;
1. There arc 4 major and 25 minor el A B C D
seaports in India. 2 _ 1 3 4
2. The major ports are under the
administrative control of the d a B C D
Ministry of Ports, Shipping and DR SN
Waterways.
3. The minor ports are under the
jurisdiction of respective State 119. Solifluction is a geomorphic process
Maritime Board [ State Government. involving a special type of soil flow that

iz noticed in
Which of the statements given above

is/are correct? (o) desert regions

fa) 1, 2 and 3

(b) 3 only

fe) 1 and 2 only

(b) karst regions
(e} permafrost regions

fd} 2 and 3 only (d}) savanna regions

JDFG-U-PFT/48A 41 [ P.T.O.
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120, f=fafas & @ FR-@ gaafE wemEf, 123, f=faiEs w21 § 8 F6-91/50-8 od 3/87

i & WU WG § v B 1. 1541 #AEE-wra i ooEm
- od 2022 # Wy (T9a) em @
o ST T o)
b) Fl Geeww 2. I ¥y (FfER IfEE) WTE T EE
(¢ () qoRmE T &9 ST 9riER 21
Fr fam o gz = W R ad 3w g
(d) B g
(@) = 1
121. ¥M weF TA (de Mo sfo) ¥ W (b) ¥ 2
Ffafiaa w0 & 3 FR-m/Fe-8 w287 @ 1323

1. o HMe FHe ¥ HaAY THIHF &9 &

0 S R W (d) Ad 1 ALAE 2

TEETE | R
2, We ;Mo e T= g (IhF Frd) 124, TR 7HE AlUFR s & sy s aEe
e &5 8§ 9h T w FE w1 g #i veraly Fmd &7
T3 R Ty 52 F1 T A e IR gh f@) 5970 o F g T
@) T () 3ad W 70 T4 R 317 "
B @ 2 fc) 5491 65 M 1 W a%
4 7 =}
S S (d) 39765 1Y TF

fa) 3t 1shad2 125. Frfofar T8 & wpe 3 & -3 Peew

¥ wEE 17
122. Fr=fafias # 4 F9-m ¥, i ot 9y fa) STEIRE, 2H, 976, WA 3 e
A (A1) 1 Rl 7
ST N (b) WENEE, ¥EW, A9, WWG, i,
fa) orédE iR TR
(b) TEE (c) ETERY, MZR, A9, ¥rE, e ik
I
(c) FEH ; .
(d) SRV, EH, AW, WA, FER,
(d) TH sfieiE s TR
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120. Which one of the [ollowing geologic Hme 123. Which of the following statements is/are
periods is associated with the first correct?

f th 1
ROTAanR ol Ehn SheRae 1. The 15th ASEAN-India Summit was
(a) Lower Cretaceous held virtually in March 2022,

(bj Upper C A 2. European Union iz India's largest
regional trading partner.
fc) Early Jurassic

Select the correct answer using the code
(d] Middle Jurassic given below.

121. Which of the following statements about fa) 1 only
the Border Roads Organization (BRO)
is/are correct? 4 only

1. BRO is concerned with the fc) Both 1 and 2
E:Dnsh‘ucl':tmn and .InaJntenam:'..:: .Gf {d) Neither 1 nor 2
roads in strategically sensitive
arcas.
N BRO iindeitaleus Sticw clearance in 124. What is the term of office of the
high altitude areas. Chairperson and Members of the
National Human Rights Commission?
Sf:lect the correct answer using the code fa) 5 years or up to 70 years of age
given below,

fb) 3 years or up to 70 years of age

-3 oty fe} 5 years or up to 65 years of age

{926 anty fd) 3 years or up to 65 years of age

fc) Both 1 and 2

fd) Neither 1 nor 2 125. Which of the following sets of nations are
members of the BIMSTEC Initiative?
122. Which among the following countries is fa} Bangladesh, Bhutan, Nepal, India
not a member of the North Atlantic and Sri Lanka

xpary: Cigubataeciis BE (b) Bangladesh, Bhutan, Nepal, India,

fa) Hungary Sri Lanka, Thailand and Myanmar

{b) Poland fe} Bangladesh, Bhutan, Nepal, India,
Sri Lanka and Maldives

fe¢) Belarus
fid) Bangladesh, Bhutan, Nepal, India,

(d] Turkey Myanmar, Sri Lanka and Indonesia
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T.B.C. : JDFG-U-PFT Test Booklet Series

Serial No.

R iaEs TEST BOOKLET
GENERAL ABILITY AND
INTELLIGENCE

Time Allowed : Two Hours Maximum Marks : 250

1.

2'.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF S0, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 125 items [questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In casze vou feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for cach
1tem.

You have to mark all your responses ONLY on the scparate Answer Sheet provided.
See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After vou have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet. _

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED EBY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAFERS,

(i} There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
guestion will be deducted as penally.

[ii} If a candidate gives more than one answer, it will be treated as a wrong answer cven if one of

the given answers happens to be correct and there will be same penalty as above to that
gqueshon.

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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